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oMl &EXg 282 1,000,0003 «13 1,000
OSHEXE Z2AIHHS SRS
10,000& =12 120
oMl SExeg ASXHM 100,000 18] 100
O XH& & Bl 6,000
MY IIEI] Xt KX
500,000& =122 6,000
202 Odl 6,000 6,000 0
01 = LHA YI 6,000 6,000 0
OFAYE 220l 50,0003 *4¥ 303 6,000
206 M= Hl 12,250 2,250 10,000
01 =8l 12,250 2,250 10,000
osASMYI MESI 2 4,500 5004 2,250
OMEMY I = Ot & 5,000& *2,000H 10,000
MeJISEH HRFD 67,000 41,000 26,000
206 M= Hl 37,000 41,000 A 4,000
01 =8l 37,000 41,000 A 4,000
orXrdll EEM =5 MA 110& %300, 0000H 33,000
OZEHM S== #AOH M= 400&+10,0000H 4,000
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X ZH -
L= B

el

#2295
WRe MEEHY X4
Hamel

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
402 BIZHXHZ 01 & 30,000 0 30,000
01 2I2E 2 A B (KR ) 30,000 0 30,000
OJEE SASMYI ZEII NFAY
600, 000& 1002+ 2 *50% 30,000
SHE ML Dl =HAY 50,000 50,000 0
= 35,000
< 4,500
[ia 10,500
201 £B-2dH| 50,000 50,000 0
= 35,000
< 4,500
s 10,500
01 At 22/l 50,000 50,000 0
QotE MY I =HALZ 50,000,000 » 14! 50,000
= 35,000
< 4,500
[ia 10,500
MRE SEESDI 110,000 125,000 A 15,000
< 37,000
e 73,000
201 L4l 20,000 0 20,000
< 10,000
e 10,000
01 At 22l 20,000 0 20,000
OTLFHS +=HAE 20,000,000& =14 20,000
< 10,000
s 10,000
401 AIEHIZL 20 90,000 125,000 235,000
< 27,000
s 63,000
01 A& Hl 90,000 125,000 /35,000
O2eotA XA 10,000,000 «9JH A 90,000
< 27,000
i 63,000
THRe ¢ S| 120,500 69,500 51,000
= 40,500
s 80,000
201 ¢er24l 39,500 2,500 37,000
01 At 2t 2l 39,500 2,500 37,000
OMRE HYUS) EHEE 7
500& *5,000% 2,500
OYXIHIE MelAte 20,000,000 » 14! 20,000
O="YSI| ZAltoet |RXl2el
250,000 #2004 2 5,000
©I&etolE XEAL 12,000, 000& * 13| 12,000
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SN BALSY
M ) RE MBEE T4
e OIEU2 2sstas =4 )
- _ _ RE]
SA BB (SH) - NRAY - B %Ei 2t
201 Bt 26,000 0 26,000
== 13,000
= 13,000
01 AP 22| H| 26,000 0 26,000
OSYEH oA RAH (safe zone) At
26,000,000 = 14! 26,000
&< 13,000
= 13,000
401 AIEHI 2L 2 0HY| 150,000 70,000 80,000
= 45,000
= 105,000
01 Al&H| 150,000 70,000 80,000
O=2Fst&A A 50,000,000 x304 2~ 150,000
= 45,000
= 105,000
HOIES A2 22 140,700 121,600 19,100
= 14,990
= 21,330
= 104,380
A& HWegs 22 54,000 54,000 0
2 4,490
& 13,470
= 36,040
301 et A =2 54,000 54,000 0
= 4,490
& 13,470
= 36,040
12 JIEtE A= 54,000 54,000 0
OsZHHY =HEAZ 54,000,000& = 14! 54,000
= 4,490
== 13,470
= 36,040
MEEE £=HAL 50,000 50,000 0
301 et M= 50,000 50,000 0
12 J|EtE2 A= 50,000 50,000 0
OS2 2= 40,000,000 *13] 40,000
Os=s2UEYH =AY 10,000,000 13| 10,000
HOo2%E +=HAIE 1,700 2,000 A 300
= 510
= 1,190
201 et 1,700 2,000 A 300
= 510
= 1,190
01 AP 2t 2] H| 1,700 2,000 A 300
OHSYUZT +=HAH 1,700,000& = 14! 1,700




AN EIESH
M ) RE MBEE T4
SRl HIIZE THE2el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 510
s 1,190
SSEOE EFAY 35,000 15,000 20,000
= 10,500
< 7,350
s 17,150
401 Al HI K 201 I 35,000 15,000 20,000
= 10,500
< 7,350
s 17,150
01 A& 8l 35,000 15,000 20,000
OEsHII= ESSHotE XA
35,000,000& =14 35,000
= 10,500
= 7,350
s 17,150
=288 2 I 25,031,634 22,024,283 3,007,351
= 1,635,000
s 1,873,000
< 7,733,828
s 13,789,806
AT Ald22 18,621,280 17,118,042 1,503,238
= 872,000
s 1,873,000
< 7,591,328
s 8,284,952
SESHMEZSIHLAS (HEH) 1,550,000 750,000 800,000
401 AIEHI L 20 1,550,000 750,000 800,000
01 A& HI 1,545,275 745,275 800,000
O=sE=HMUEBEFINLAIG (XS
1,545,275,000& 14 1,545,275
03 Al 2 THHI 4,725 4,725 0
O=sE=HUEBEFINLAIG (XS
750,000, 000& *0.63% 4,725
Ao et 531,854 480,806 51,048
201 Let24d] 506,970 455,770 51,200
01 At 22l 326,670 309,070 17,600
O R-Iget=:]l 325,550
O=x=2ZEZEIANMZH
6,500 *500F * 12 3,250
OM=2H (B4 2 +229)
1,000& *50,000& 50,000
ODISB4AE +HAAML2EE
300,000& 209K A 43 250,800
ONYL+E +HANE2E
500,000& *23| «12& 12,000




SN BP2ED
My 2XPA QN
Chel: AT A&ZR CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ORglH ZundEs=2 4,500,000& *13] 4,500
OXicts tHHE SEZS 1,000 +5,0004 5,000
ozdg=+¢ 1,120
O+FSBIHAREFH4Y
70,0003 x8H 23] 1,120
02 2324l 180,300 146,700 33,600
oz22= & HMA 9,100
OXNEHNIBETERS 200,000& »12& 2,400
O&=E& 3l 700,000& x13] 700
O=2dd 3= ANd 22 =2E3
6,000,000& x13l 6,000
O A& EHl s Xl 152,000
OF=FANES X2l 50,000,000 14 50,000
O&F+& 2 3Ma Fuls89y|
900,000& »12& 10,800
ODISNATUARRSEANLB LISl
ele=2 200,000& #3812 128 91,200
O Xt& & Bl 19,200
O¥2% XUERAY| 800,000 »2CH =123 19,200
202 oddl 9,000 9,000 0
01 = LH o4 1l 9,000 9,000 0
O&+ZHRFA220H 50,0008 6% 30 9,000
206 M= Hl 15,884 16,036 A 152
01 =8l 15,884 16,036 A 152
ODISA+CAE 22U+ 7Y
2,000 *20900 2 +23] 836
ONISA=TAIL A0 2
18,000& 209K A 43 15,048
1] = = 1,164,765 2,467,170 A 1,302,405
401 AIEHI L 20HYI 1,164,765 2,467,170 A 1,302,405
01 A& HI 1,164,765 2,467,170 A 1,302,405
oltsdx S22 247,665,000 » 14! 247,665
Olt2da=: SAA2AY 917,100
Ot HAA=D] WA
6,000,000 =104 & 60,000
Ot RPH+=AXTEI WA
6,500,000 =104 & 65,000
OXot=S &AM 2 AtZ22EH
9,000, 000 *20J4 2 180,000
O3 MYZETHZA
20,000,000& *5H 2 100,000
Ot =2HEZUA
5,000,000 #2804 2 140,000




M BAES
My 2XPA QN
Chel: AT A&ZR CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Oltsds+ 243 HFa
182,100, 000& * 14! 182,100
OaxmZ2 Sx=A4 =X A2l £ &
XIS At 5,000,000 =384 A 190,000
AR AIEHE(HE) 164,285 714,286 A 550,001
< 115,000
s 49,285
401 Al HI K 201 164,285 714,286 A 550,001
< 115,000
s 49,285
01 A& HI 163,185 711,714 A 548,529
OLTRIBESTANEMNSB(HE
163, 185,000& 14 163,185
< 115,000
s 48,185
03 Al 2 THHI 1,100 2,572 AN1,472
OAMRZZAHMNS(EE) 1,100,000 * 14! 1,100
Agas=E 2te| 1,731,661 2,657,780 A 926,119
401 A& HIZ 201 Y] 1,731,661 2,657,780 A 926,119
01 A& HI 1,729,330 2,654,000 A 924,670
Oztdd stdel ek S IA
00,000,000 =14l 200,000
OstdH Fel 2945 SHIA
370,000,000& *1JH £ 370,000
OBUET HUXNS F=E=3A
30,000,000& » 14l 30,000
OTHYHLE B2UE Lo2E+ZA
30,000,000& =14l 30,000
OXgax=E FX 223 A 300,000,000 141 300,000
O&AARE AU AFA AR X SA
3,000,000 *100H 2 30,000
O=THHl JI2HE(HE) =8EY
639,330,000 » 14! 639,330
OFL &=E A2 FYFHIEEA
20,000,000& =14 20,000
OBYR H+ALHBENE 2YB
15,000, 000& 14 15,000
OTANLT S S4HAN B9
10,000, 000& * 14 10,000
Odot==s &8 X HUANRES &MEHR
g9 30,000,000& =14 30,000
OF2Ls SUcl HeE WHMBA
55,000,000 =14l 55,000
03 Al S THHI 2,331 3,780 A 1,449
Oztdd™ Fiel A SHHIA
370,000,000 *0.63% 2,331




M BAES
My 2XPA QN
ool AT Ald2el (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
AT sHEMESS HE AL (HE) 4,500,000 2,142,857 2,357,143
< 3,825,000
s 675,000
401 Al Bl 28I 4,500,000 2,142,857 2,357,143
< 3,825,000
s 675,000
01 A& Bl 4,100,850 2,135,142 1,965,708
OEAXF SHEMESIHEAZ
4,100,850,000& =14 4,100,850
< 3,825,000
= 275,850
02 Zteltl 387,000 0 387,000
OELXT SHEMESFIMHEAZ
387,000,000 =14 387,000
03 AIE 2 0HHI 12,150 7,715 4,435
OELXT SHEMESIMHEAZ
4,500,000,000& *0.27% 12,150
FMIT sHEMESS HE A (HE) 2,464,715 5,947,143 A 3,482,428
< 2,095,008
[ia 369,707
401 Al &I 28I 2,464,715 4,576,143 A2,111,428
< 2,095,008
s 369,707
01 A& HI 2,047,915 4,259,668 A2,211,753
OFMIF SHEMESIHEAZ
2,047,915,000& 14 2,047,915
< 1,748,208
= 299,707
02 Zeltl 408,000 300,000 108,000
OZUIF SOHEMESIHEAZ
408,000,000 =14 408,000
< 346,800
s 61,200
03 AIE 2 0HHI 8,800 16,475 NT,675
OZFMIT SHEMESIHEAZ
8,800,000 =14l 8,800
Xl ot==2el 32,000 0 32,000
< 9,600
= 22,400
401 Al Bl & 28I 32,000 0 32,000
< 9,600
= 22,400
01 A& HI 32,000 0 32,000
OXlots BEX2FY 32,000,000 =104 2 32,000
< 9,600
[ia 22,400
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SN BAESD
M £IBH Y A
el AAT AZBR (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Nea+E SHatALS 2,122,000 1,958,000 164,000
s 1,273,000
< 339,720
s 509,280
402 2I2H X201 M 2,122,000 0 2,122,000
s 1,273,000
< 339,720
s 509,280
03 212t & AFH HI 2,122,000 0 2,122,000
OXNga=S SUSAIE  2,122,000,000% 14 2,122,000
s 1,273,000
< 339,720
[ia 509,280
ADE 22 2g| elZel REAY 1,093,000 0 1,093,000
= 765,000
e 328,000
402 RIZEX201 ™ 1,093,000 0 1,093,000
= 765,000
e 328,000
03 212t E AL S HI 1,093,000 0 1,093,000
OAOtE2Z 2| eloet ALY
1,093,000, 000& 14 1,093,000
= 765,000
s 328,000
ANga+E HASZY ASAE(E) 657,000 0 657,000
< 328,500
i 328,500
401 A& HIZ 2018 657,000 0 657,000
= 328,500
s 328,500
01 A& HI 652,900 0 652,900
ONYL+T HASSL SSAMA(ZELH)
652,900,000 =14 652,900
< 328,500
e 324,400
03 A& =2 THHI 4,100 4,100
ONYL+T HASSL SSAMA(ZELH)
4,100,000& =14 4,100
FEIFR sHELESFIHL ALY 800,000 800,000
401 A& HIZ 201 I 800,000 800,000
01 A& HI 800,000 800,000
OHEXNT sHEMESFIHLAY
800,000,000 =14l 800,000
HEXF 24T SSAM 1,000,000 1,000,000
< 850,000
fia 150,000

no




SN BAESD
M £IBH Y A
el AAT AZBR (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 1,000,000 0 1,000,000
< 850,000
s 150,000
01 A& HI 1,000,000 0 1,000,000
OHISY FMel, gateel =5 SIS A
1,000,000, 000& 14 1,000,000
< 850,000
s 150,000
LA ZLIA XNEAY 153,000 0 153,000
= 107,000
s 46,000
402 2I2H X201 M 153,000 0 153,000
= 107,000
s 46,000
03 212t & AFH HI 153,000 0 153,000
oOLZ:&=22 FUXZA 153,000, 000& * 14! 153,000
= 107,000
[ia 46,000
ALa=E HAdSSL ISAY 657,000 0 657,000
ras 600,000
< 28,500
e 28,500
401 Al HIZ 201 8] 657,000 0 657,000
as 600,000
< 28,500
s 28,500
01 A& HI 651,700 0 651,700
ONLa+T HASSL IEMB(ZE)
651,700,000 » 14! 651,700
s 600,000
< 28,500
[ 23,200
03 AlE =TI 5,300 0 5,300
ONYH4E HABIY PEAY(RS)
5,300,000 » 14 5,300
ot=% Al 22l 6,410,354 4,906,241 1,504,113
= 763,000
< 142,500
i 5,504,854
ot el Bt 34,938 228,675 A 193,737
101 @124 dl 27,738 27,550 188
04 D12t Z2REE S 27,738 27,550 188
Odt=EZ &= 27,738
Oy 69,7603 x 1 261 18,208
O=5=¢ 69,7603 x 1Y 52 3,628
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2N
X ZH -
L= B

el

#2250
SHSH L KM
ST A&

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Odxt=< 69,7603 *1Hx10 698
[Or==1:l 100,000& x1H x12& 1,200
Ol 50,000& *x1H x12& 600
Oo4HEeg = 22,532,480& *12% 2,704
O = 150,000& *x23] 300
OY &=ty 200,000 x1H 23] 400
201 L2 Y| 4,500 4,500 0
01 At 22l Yl 2,400 2,400 0
Ot =2H| 2,400
Ott+ER2 2T+ XM S ARE &
ZH| 200,000& x12& 2,400
02 3524l 2,100 2,100 0
o332=2 % HA 2,100
Odt+= =8 3| 2,100,000& x13] 2,100
202 (4] 2,700 1,200 1,500
01 2LHOHI 2,700 1,200 1,500
Ot R =X ZUOHl 20,0003 *3H *20! 1,200
Odte+THRFE 220Hl 50,0003 *3H 10! 1,500
St Al R 2el 660,737 676,970 N 16,233
401 Al HIL 200 660,737 676,970 N 16,233
01 Al &bl 656,600 674,450 A 17,850
Ot A=A AIS 200,000,000& * 14 200,000
OZ2Z20t+TXHelAld BEX=Z A
200,000,000& * 14 200,000
Odt+Z (22, ME)ANE FANE=B A
200,000,000& * 14 200,000
OREXNT 222 BA 56,600,000 *14] 56,600
03 A& 20 Y| 4,137 2,520 1,617
Odte=T Al R 2el 656,600,000& *0.63% 4,137
St XHelAld 22l 2,504,993 3,062,596 A 557,603
201 Bt A | 368,805 361,008 7,797
01 AFR2 22l Yl 1,275 1,008 267
O Yet+=g2H| 1,275
OJelotEMelAlE St S S(MALE)
510& *2,50000 *13] 1,275
02 33294l 367,530 360,000 7,530
0332=2 % HA 367,530
OBMst4HEE AR B
2,010,000& * 14 2,010
OlISEeH2AAE SMR2
460,000& *12& 5,520
OEHIZANEFIR2 30,000,000& *12& 360,000
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AN EIESH
M £IBH Y A
el St Alg2tel (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 1,754,800 1,758,000 A 3,200
05 RIZHRI & 3 1,754,800 1,758,000 A 3,200
OEZI=ANE QUAAE S
1,738,000, 000& 14 1,738,000
OZI=ANE =TSR A 228
16,800, 000& 14 16,800
401 Al HI K 201 I 381,388 943,588 A 562,200
01 A& HI 379,000 938,057 AB59,057
OFJI=(0tsct=HMel)AME HE S
200,000,000 =14 200,000
OBYSIEHAT HLTALTA
70,000,000& =14 70,000
Odt=HXelAlE HIILZHHXEZ
5,000,000& =14 5,000
OHY BMSIAHAANL HUHARS
37,000,000& =14 37,000
Odt=HMelAlE WHNESHIISA(F Lot 24
0o &) 67,000,000& =14 67,000
03 AIE 2 THHI 2,388 5,531 A 3,143
Odt=HXelAld |A&el 379,000,000 *0.63% 2,388
HEIAR ARBots=XelAld EXAY 369,000 166,000 203,000
= 246,000
< 61,500
e 61,500
401 A& HIZ 201 Y] 369,000 166,000 203,000
= 246,000
< 61,500
e 61,500
01 A& HI 359,368 164,810 194,558
O&EXNF A2A20t=XMelAlEE XA
359,368,000 » 14l 359,368
= 239,578
< 59,895
e 59,895
02 2eldl 6,975 0 6,975
O&EX T 2A20t=XMelAlEE XA
369,000,000& *1.89% 6,975
= 4,651
< 1,162
[ia 1,162
03 A& =2 THHI 2,657 1,190 1,467
OFFXF AREot=HMlAEEX AL
369,000,000& *0.72% 2,657
= 1,771
< 443
2 443
AR ARZ2ots=XelAld HEAY 358,000 0 358,000
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2N
X ZH -
L= B

el

#2250
SHSH L KM
ST A&

SN FH-SA(EN) - MBAY - BES

0l &t o

=

i
2m

Mo

250,000
54,000
54,000

401 AIEHIZ 2 THHI

A

358,000
250,000
54,000
54,000

358,

000

01 A& dl

OFLXN T ARIZot+=HEAE EXAY
348,655,000& * 14|

OgAXF A720t=XHM2lAE EXNAEL
358,000,000& *1.89%

03 Al 2 THHI

OZAXF A720t=HM2lAE EXNAEL
358,000,000& *0.72%

H W Ao

MW

348,655

348,655

243,457
52,599
52,599

6,767

767

137
,015
,015

2,578

O N

no

,578
1,806
386
386

348,

655

. 767

,578

Mo H

122,000
85,000
18,500
18,500

314,000

A192,

000

401 AIEHIZ 2 I

Mo

122,000
85,000
18,500
18,500

314,000

A192,

000

01 A€ HI

o2 OtSot==dHIAY

121,121,000& 14!

03 Al S THHI

o2 OtSot==dHIAe

122,000,000& *0.72%

A

121,121

121,121

85,000
18,500
17,621

879

879

311,740

2,260

A190,

619

,381

=B1X7? sHEOS0t=SFH ALY

ol

Mo R

55,000
38,000
8,500
8,500

314,000

A 259,

000

401 AIEBIZ 2 THBI

H

55,000
38,000

314,000

A 259,

000
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2N
X ZH -
L= B

el

#2250
SHSH L KM
ST A&

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 8,500
= 8,500
01 Al&H| 54,604 311,740 A 257,136
OsZEIXNP? sHE0ISol== &8 AIY
54,604,000 14! 54,604
= 38,000
< 8,500
= 8,104
03 AlIE 20| 396 2,260 AN 1,864
O=ZIXNFP sHE0ISotx=C A Y ALY
55,000,000 *0.72% 396
LSotea2 HYUXA 288,000 144,000 144,000
2 144,000
= 144,000
401 AlEHIZ £ 0HY| 288,000 144,000 144,000
2 144,000
= 144,000
01 Al&H| 285,926 143,000 142,926
OLZot=2=32 HFUXZA 285,926,000& * 1Al 285,926
= 144,000
= 141,926
03 Al 201 Y| 2,074 1,000 1,074
OLZote2z HUXA 288,000,000& *0.72% 2,074
EEMAAE HEAY 301,890 0 301,890
401 AlEHIZL 2 0HY| 301,890 0 301,890
01 Al&H| 300,000 0 300,000
Oz HM2lAlE HEAIS 300,000,000 « 1Al 300,000
03 Al 21| 1,890 0 1,890
O MelAlE HEAFE 300,000,000 *0.63% 1,890
ol=23& HHIAY 503,150 0 503, 150
401 A& HI L 2 04| 503, 150 0 503, 150
01 Al&H| 500,000 0 500,000
Oodlx=&=Z HUIAY 500,000,000 « 1Al 500,000
03 AlE 21| 3,150 0 3,150
Odlx=&= HUI AL 500,000, 000& *0.63% 3,150
Jls=&e JHSEAIY 1,212,646 0 1,212,646
401 Al HI L 2 0HHI 1,212,646 0 1,212,646
01 Al& H| 1,205,054 0 1,205,054
OJlsdlczd 271,000,000 » 1Al 271,000
OJl=&c HHE AL (BH=H 2l &)
650,000,000 * 1Al 650,000
O©JIs=&C AL (BH=22)
284,054,000 « 1Al 284,054
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03 AlE 2 THHI 7,592 0 7,592
OJI&=&HIHE AL 1,205,054,000& *0.63% 7,592
HoI2ZE 4,068,193 3,623,396 444797
= 551,000
= 123,000
e 3,394,193
HIISHM2ANES 288 29 4,068,193 3,623,396 444 797
= 551,000
= 123,000
e 3,394,193
HIIE MelAde s88 29 1,266,073 987,376 278,697
101 @124 dl 788,897 697,866 91,031
04 DIt Z2XEES 788,897 697,866 91,031
OdEHISHEARY 784,985
OJdles 71,0903 «22H 261 408,199
O=s=¢ 71,0003 x22H 52 81,327
OAR=< 71,0003 228 10 15,640
Of222x4(E,2)
71,0902 *22H x512 «150%/2 59,823
OFd2R=H(S5Y)
1,000& x22H «152 x250% 58,650
C42E = 505, 165,540 *12% 60,620
OFEFItHI 200,000& +x22H #23| 8,800
O=&l 100,000 »22H »12& 26,400
oXg=s 120,000& »22H 44 10,560
oot st 2 Hat 62,0003 x22H 4= 5,456
ogrotA=a 4,000 22 3152 27,720
ogds 3,000 x22H «315 20,790
OR4XEY 2 Ayl 2
1,000, 000& 14 1,000
OANE =8 M= A2 3,912
OJdles 160,000& *4H 3 x23| 3,840
O=&l 3,000 *4H »32 *23| 72
201 et 463,576 279,910 183,666
01 Al 22! H| 322,536 147,220 175,316
CEEIER =Y 301,800
O M2l 1,500,000& »12& 18,000
OSA2% HII= M
50,000,000 » 14l 50,000
Ol & <IE X2l 4,500,000& *63] 27,000
OHEOIN, &€&s AKX
10,000, 000& * 14 10,000
OUEmIIE IEHa 300,000& x600ton 180,000
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OdgEd A2Z(UHYl, &, &X )
800,000& »12& 9,600
O&® s #¢¥¢ 6,000 *1000H x12& 7,200
ozg=¢ 9,600
O Al 60,0003 »2H 802! 9,600
oul=l 11,136
oot s 2 &3t 62,0003 x12H «4= 2,976
o= 120,000& =12 44 5,760
ogds 200,000& »12& 2,400
02 =224l 141,040 132,690 8,350
OZ2R3S a2z & 9=zl 1,500
OZ@ o2l (&dlek ) 1,500,000 14! 1,500
03323 2 HA 139,540
o2 A2z 370,000& *x34H «13] 12,580
odIIe2 10,500,000& »12& 126,000
ORtdYgsEes= 80,000& +12& 960
301 LEHZ 13,600 9,600 4,000
09 BAAHIX A S 13,600 9,600 4,000
OFHIY =0LHS 400,000& =44 Ot = 1,600
OFHIH =0 Hd&X As
2,000,000 =424 Ot = 8,000
OdgdE 22X SFIIZAIE 848X As
2,000,000& »23| 4,000
HII2 X2lAlE 22| 1,123,720 1,356,620 A 232,900
201 LBt2E| 707,920 704,320 3,600
01 At 22l 249,420 163,220 96,200
O el 249,420
OMEE EIIZHA 4,300,000& =13 4,300
OsaAsHdelAd FEIIZ A 1,000,000 =12 1,000
OaxZAd e HIIHA 600,000 *13 600
OXdts =2 ZA 900, 000& *13] 900
OXlots BAE =2HA
170,000 »4JH x4 3] 2,720
O &&= =ZHA 1,700,000&+123 20,400
otoI=2d=d I M 5,000,000& x13] 5,000
OUIl 2elAd =2
1,300,000& »12& 15,600
OIl MHIEE U=
3,000,000& »52== 156,000
OX2ANE HII=E =2
5,000,000 » 14l 5,000
Od&etdae|fd =2 600,000 122 7,200
OFfUZHAMNAREA++Z 350,000& 122 4,200
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ONEZHMNEIASA 252  850,0008« 122 10,200
OXgeY=TH| 1,500,0008! *13] 1,500
O22T HYAHLADS e
3,500,000& »14! 3,500
O£2T, HIAT 82 24
2,500,000& 4= | 10,000
OXIH£BHII S HII2M
1,300, 000& *13] 1,300
02 =224l 458,500
03322 % HA 81,500
oxg 2 ZH 233 (EE S)
9,500,000 » 14 9,500
OZMALH 2,000,000& =13l 2,000
OCHIISHERES 70,000,000& x13] 70,000
L] 60,000
OAZAM U Zgy SRyl
60,000,000& =14 60,000
O Xt& & Byl 40,000
Os®U ¢ FH=XHl S
40,000,000& =14 40,000
OAI&E ZHI S X 277,000
OMEHIIES M2lAE A2l A
6,500,000& x12& 78,000
OL2tAld KRl AFY 30,000,000 * 14 30,000
OJtAHZAIE S22 At
25,000,000 =14 25,000
OsdiotA MAHEH sA2el At
30,000,000& =14l 30,000
OSAE2F HIISH2AAME S22l At
34,000,000& =14 34,000
OlEE sAacl At 15,000, 000& 14! 15,000
Ougd w2l A 20,000,000& =14 20,000
O=24 steA KAz 5,000,000 » 14l 5,000
OCCTV |RAE =+ 3,000,000& »14! 3,000
Oielste=H™elAld & 6,000,000& x13] 6,000
O Ml 2tdl 31,000
—AAE ALY (1.58)
8,000,000& »23] 16,000
~SE0| Y WAANL B
4,000,000& *23| 8,000
-SAE 222 (1E) 3,000,000& *13] 3,000
-2 MZE3 2,000,000& =23l 4,000
202 odl 7,000 7,000 0
01 = LH o4 1l 7,000 7,000 0

_29_




2N
X ZH -
L= B

el

BAES Y
HIISZE
HIOI2HM2AAES &2

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OEZANLE FRFA 04l
50,0003 »4H 352 7,000
206 M= Hl 120,100 82,200 37,900
01 M= 4l 120,100 82,200 37,900
OHIIEXCANE 28 &5 ¢
4,500,000& 123 54,000
OAx84 IR 66,100
Osta Xt ¢ 240,000 90K 21,600
OL2AANE 5 7Y 2,500,000 «8H 20,000
OHMe & 2HF +< 12,000, 000& 14 12,000
O4asll 7¢ 2,500,000& » 14l 2,500
OogxsE gadd 25337 £
4,500,000& =14 4,500
Oaxdz 25 #¢ 5,500,000& 14! 5,500
401 AIEHI L 201 134,000 397,000 A 263,000
01 A& HI 134,000 397,000 A 263,000
O A& HI 134,000
O8A=2F MelAld 22 EXAE
100,000, 000& * 14 100,000
ONt@=Held I+ |FNEx A
22,000,000& =14 22,000
OMNMEJl SXNEx At 12,000,000 =14l 12,000
405 Xh&HE S b 154,700 166, 100 A 11,400
01 et EFHSHI 154,700 166, 100 A 11,400
OdHHE A 2,000,000 = 1CH 2,000
OAEEH 90,000,000 = 1CH 90,000
OYgEEA 5,500,000 =114 60,500
o=gol 1,000, 0002 =14 1,000
O&AD| 300, 000& 4K 1,200
HoI2XM2AE =8 X9 XA 129,400 129,400 0
201 YetS Al 1,400 1,400 0
01 At 22l 1,400 1,400 0
OMYII WS E FHAS Zolgols Fa+Y
70,000& x10E »23] 1,400
402 RI2HXt20l ™ 128,000 128,000 0
01 U2 EALE X (XA ) 128,000 128,000 0
OMeIIHEE =EHAS XAAS
128,000, 000& 14! 128,000
MEHIE A22AE &EX 1,117,000 1,000,000 117,000
= 335,000
< 78,200
e 703,800
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201 Le-2d| 37,720 37,720 0
01 At 22l 37,720 37,720 0

O el 18,000

OM2E =24l 1,500,000& 122 18,000

O= &l 8,000 x29H x85 19,720
202 o4dl 30,720 34,560 A 3,840
01 = LH o4 1l 30,720 34,560 A 3,840

© 04l 80,0003 32 128 30,720
203 YR =2t 6,000 6,000 0
04 EA2IYRFLH| 6,000 6,000 0

ORN2IEYRZ=AHI 500,000& = 12& 6,000
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